;> restart
> expand((m—1)-(m—2)-(m—3)-(m—4))=0
] ' — 10> +35m* — 50 m+24=0 )
> Condiciones = y(0) =1,D(y) (0) =-2, D(D(y)) (0) =3, D(D(D(y))) (0) =-4;

Condiciones —y(0)=1 D(y)(O) =-2, D(z)(y)(O) =3, p© (»)(0)=-4 Q)
> Ecuacion = diff (y(t), t84) — 10 diff (y(¢), 183) + 35 diff (y(¢), t82) — 50 diff (y(¢), t) + 24

2o

y(t) =0
Ecuacion := d—iy(t) —10 (d—Zy(t)] +35 ( dzz y(t )] —50 (iy(t)) +24y(t) =0 ?3)
i d dr dr d
> AA = array([[0,1,0,0],[0,0,1,0],[0,0,0, 1], [-24, 50,-35,10]])
0 1 0 0
0 0 1 0
AA = “)
0 0 0 1
-24 50 -35 10
> Ycero = array([1,-2,3,-4])
Yeero:=|1 -2 3 -4 | 5)
> with(linalg) :
> ME := exponential(AA, t) :
> ME[1,1]
4e -6 4t -t (6)
> ME[4,4]
L 32 27 ey, o
‘ ¢ + 3 5 ¢© +4e @)
> SOL = simplify(evalm(ME &* Ycero)) : y,(t) =SOL; y,(t) =SOL,; y,(t) =SOL; y,(1)
=SOL,
_ 107 2, 61 3/ 25 44
(1) 6 © 39e+2e 3 ©

yz(t)=——1(3)0 e4t+—1§3 e —78 ezt+—127 e

400 4:, 549 3 2+ 107 ¢

y3(l)=-Te +Te —156¢ -I-Te
ya(ty =312+ 107 o 1647 30 1600 4 8)
i 6 2 3
> SolPart := dsolve( { Ecuacion, Condiciones})
SolPart == y(1) = 0L o 392t OL 325 4 ©)
i 6 2 3
> DerSolPart = diff (SolPart, t)
d 100 4z 183 31 2t 107 t
D [Part .= — y(t — — 78 — 1
erSolPar dty() 3 +2 7e+6e 10)

[ > DerDerSolPart = diff (SolPart, 32 )
1n



2

400 4: , 549 3¢ 107
-— —e — e

DerDerSolPart = d—z y(t) = e+ — 156> + Q)
dl 3 2
DerDerDerSolPart = diff (SolPart, t$3)
3
DerDerDerSolPart = = y(1) = =312 ¢ + 10 o4 1047 30 1600 v 12)
dr 6 2 3
restart
AA = array([[2,3], [1,4]])
AA 23 (13)
1 4
with(linalg) :
ME = exponential( A4, t)
3 s+, 1 563 50 3 ;¢
4 e + 4 e 4 e 4 e
ME = (14)
LeSt_iet Let—l—ieS’
4 4 4 4



